MODEL

t:) MAIN STRUT ASSEMBLY

“ UMBRELLA CLIP COMPLETE
MO08-P06-MSASSM

*

*
## - TO SPECIFY COLOR

M CH - CHARCOAL
l MB - MATTE BLUE

[ ] WH - WHITE
[] SL - SILVER
M MR - MATTE RED

MAIN HINGE TUBE Model 8.0
TR8-02X-MS44+##

HANDLE RELEASE
PR8-14H-MSPAFG

M6 X 55mm CSK BOLT
BR8-08X-MSM655

HANDLE RELEASE ROD

/

UMBRELLA CORD
06-P46-007-UK
e

UMBRELLA
HOLDER w/STRAP
06-P43-U101-02

UMBRELLA CLIP
PR8-13H-MSPAXX

M6 X 79mm BOLT
BR8-07X-MSM679

UMBRELLA CLIP COMPLETE

MR8-19X-MS04 XX

HANDLE RELEASE MOUNT-B

MO08-P06-MSASSM

CUP HOLDER XL
PR8-53H-HCPPFG

HANDLE RELEASE MOUNT-A

PR8-18H-MSPAFG

SPRING inner@13x50mm

PR8-19H-MSPAFG

MAIN HINGE CENTER
PR8-15H-MSPAFG

M6 X 57mm BOLT
B1C-14X-XXM657

HANDLE RELEASE SPRING
MR8-13X-MS12XX

7 HINGE LOCK PIN
MR8-20X-MSM8XX

M6 NYLOCK NUT

06-M44-M6x6NL



